A

WAGNER

EXEE

=
=

©
)

i ¢ NG / °
IRl @ & \ o
n L fi]
U< 4 v oY
“_mpmmm N 2

N o~ -—
£a3tEE .ﬂ,\,o\ﬂy -
ER R o G
B RY g3 =\
- £

u Rl

F & g_w G5 CHRETRRIR

ETgfs //Il C R <
BN < /// ‘

N R
=)

LWPERDIT, FELBREL
WO I T RSB EE

BIFATESLN,

—

NS

34

WZ13-110H(WZ-110H)

AARED

|

35 Agg

2023.02

[C40000A

T - P = AN AL (e IR /Y o/ S B

Ik -



WZ13-110H(WZ-110H) WAGNER

POS R fnh Y TEAM 5
TV GX160LJ « Ha A wl
2112120 |@EART 200,000[XTA13.14KSX
2112170 |[7rma—&— L7 32,700
2112101 [Z7L—2A—= 23,400
2112102 |~ RL 5,000
2112103 |Hiii 3,800{ ¢ 150

2115555 |JEJJ&l - SEA A 13,400{ ¢ 63-30MPa

2118067 |WT7 77—V vk 4,400|SUS3/8F

2112104 (WK 0 3,400|G1/2 X 45

2116380 |[F7AL TNV HF— 3,200

2112105 |F4— 2,600]5 X 5 X 38
2112106 (77U 7 1,100

2112107 |AZ R L 520

2112112 |[F AL \vF 780

2112108 [(A¥—nuv7 760| ¢ 16

2112109 [0V 7 150]17.86 X 2.62

== === = = = =
olo|w|o|ola|w|—=|o|[L[ ||k W ||

2112110 |[OV»7 150{10.82 X 1.78

== N[ DO [ = DO [ = (DO (== DN DD | == == = [ = D= = = = =

20 2112111 POy — 250] ¢ 16

21 2109352 |/NAAR/L 150|M8 X 35
22 2109303 [FEAAF SRV 150|M8 X 45
24 2112113 /MBS AARILVE 150|M8 X 20
25 2109400  |HEEAR /LK 270|M6 X 35
26 2109500 |7T I AT vk 270[M8

27 2109518 |U F vk 270/M8

28 2109526 [T~k 150|M6

29 9920102 |SEUw p— 180[M8

31 9921502 (AT VLT T — 180[M6

32 2112114 |l 3% 150 ¢ 8

34 MfEs — L

35 HEL—

LC40000A

2
fIAk - dn - MRS T ERKER T 2ENHYET, 2023.02



WZ13-110H(WZ-110H) wAcNER

EER2 T [XTA13.14KSXI(PN 2112120)

TS/
W/

IC40001A

3
AR - 03 - I T ERKEETH2HERHVET, 2023.02



WZ13-110H(WZ-110H)

A
WAGNER

Ik -

4

T - P = AN AL (e IR /Y o/ S B

POS RS B4 B TEAM ik
1 2112121 |78 AR VR 6 780[M6 X 60

2 2112122 |7 —4kx L7 1 2,700

7 2112123 |V TF50 6 4,200

8 2112109 |0 V7 6 150[17.86 X 2.62
9 2112124 |74 6 2,000

10 2112125 |0 V7 6 150|15.54 X 2.62
11 2112126 |YAR—hKJo o 3 400

12 2112127 |@&EY—L 3 4,900

13 2112128 |3 —LUF—F— 3 3,500

14 2112129 |0V 3 270[26.70 X 1.78
15 2112130 |[{KET—L 3 1,500

16 2112131 |A A2 —)v 3 1,500/|15 X 24 X 5
17 2112132 | RA/ 83— 1 1,800

19 2112133 |2 F v 7V 1 650

20 2112134 |7V 1 3,400

21 2112135 |UF—F— 1 9,100

22 2112136 |7F2 0/ r—A 1 55,200

23 2112021 | TAVT AT 47 1 3,100

24 2112022 |7F v —F vk 3 650

25 2112023 |Tviy— 3 270[8 X 13 X 0.5
26 2112140 |FF70Pv— 3 10,600

27 2112141 |0 Vv 3 150[4.48 X 1.78
28 2112142 | AU A=V 3 270

29 2112143 |70 V% —HAR 3 9,800

30 2112144 |70y —HARE 3 1,300

31 9900322 |7/ XA LR 6 200|M5 X 20

32 2112145 |UF0 7/ —AJ /83— 1 7,500

33 2112146 |0V 1 270[20.24 X 2.62
34 2112032 |AANY AT TR 1 650

35 2112031 |AFARN & 1 400

36 2112149 |=v ook 3 12,000

37 2112150 |H A~ b 1 1,700

38 2112151 |0V 2 150(14.00 X 1.78
39 2112038 |FLo 757 2 1,300|G3/8

40 2112153 | T ~vR 1 88,100

41 2112154 [0V 1 270[17.5 X 2.00
42 2112041 |75/ 1 2,200(G1/2

62 2112156 [AA /L2 — L 1 2,700[40 X 50 X 7
67 2112157 |7F 7 %7k 1 61,200

68 2112158 |=—RFA_X7Y 7 1 7,600

69 2112159 |70 1 11,300

70 2112160 |75 7RV 4 150/M6 X 18

79 2112161 [Ty y— 1 270(6.5 X 28 X 4
80 2109310 [/SARLE 1 260[M5 X 30

84 2112162 |ZF 7V 1 2,700

LC40001A

2023.02




WZ13-110H(WZ-110H) wAcNER

7oa—4—/\)L7J (PN 2112170)

[C40002A

5
AR - 03 - I T ERKEETH2HERHVET, 2023.02



WZ13-110H(WZ-110H) WAGNER

POS T AEE B TEAM ik
1 2112171 |FJi#& )~ 1 1,300

2 2112172 |SA ST IED AL 1 650[M6 X 20

3 9910102 |ANfF vk 1 200[M6

4 2112173 |A> P —k7 1 4,600

5 2112174 |(AFVo 77—k 1 400

6 2112175 |JEJJFHEERAT V7 1 1,300

7 2112176 |7 /3—E AR 1 5,000

8 2112177 |&7v 1 650

9 2112178 |\ 7TV T 1 380

10 2112179 |0 V2 1 150(7.66 X 1.78
12 2112180 |E°ARHAR 1 6,600

13 2112151 |0 V2 1 150{14.00 X 1.78
14 2112181 |0 V2 1 270(8.73 X 1.78
15 2112125 |0 U2 1 150{15.54 X 2.62
16 2112182 |\ 77V 1 380

17 2112183 |0 V2 1 150[2.90 X 1.78
18 2112184 |m—U—r ARy 1 7,600

19 2112185 |/3L 7 —h 1 3,200

20 2112186 |0 V2 1 150[9.00 X 1.00
21 2112187 |TU L T F 7 1 3,400

22 2112188 |0 V2 1 150{11.91 X 2.62
23 2112189 |/SILTRF 41— 1 23,700

24 2112146 |0 V2 1 270[20.24 X 2.62
25 2112190 |0 V2 1 400[4.00 X 2.50
26 2112191 |F v/ 7 1 1,700

27 2112192 |27V 1 1,300

28 2112193 |0 Vo 1 150[12.42 X 1.78
40 2112194 | A7 49747 1 6,700

41 2112195 |AKAT 41— 1 12,900

42 2112196 |0 Y 1 270(23.47 X 2.62
44 2112197 |0V 1 150{17.17 X 1.78
45 2112198 | A Lo hT T 1 3,900

L.C40002A

6
fIAk - dn - MRS T ERKER T 2ENHYET, 2023.02



WZ13-110H(WZ-110H) wAGNER

% - KR—Z (PN 2116110)

2—-1
1
ID40000A
POS S fh4h $& EAM k=
1 2116110 |W/KA—AEvh 1 13,900{G1/2F X 3m
2 2116111 |[WKAE—A (1) 9,000
2-1 | 2116020 |O V2 (1) 270(P12
3 2116320 [ARL—F— - Pz (1) 4,200|G3/4F
L.D40000A

7
kR - S - MR T E T 2ERBHET, 2023.02



